A Beaver’s Tale – Name ______________________________________________
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Explain: 
1. What functions did the beaver’s tail serve in the beginning of the story?


2. How were these adaptations helpful for the beaver’s lifestyle?


3. What caused the beaver to lose the hair on its tail?


4. How did the beaver’s life change once it lost hair on its tail?


5. What new purposes did the hairless tail serve?



Reflect and Predict: 
6. Suppose the beaver decided not to move into the river. Would his new tail serve him well on land? Why or why not? 

7. Just like the beaver in the story, beavers are crepuscular, active at dawn and dusk, and nocturnal, active at night. 
a. [image: ]What type of adaptation is it (physical or behavioral) for a beaver to be nocturnal or crepuscular? 


b. How would a beaver’s life be different if it was diurnal, active during the day?




c. What benefit might being crepuscular or nocturnal serve for the beaver? 
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